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SN FB - SRI(S) - NIRAY - B sk als HmE2
0f 4 o8

oY A ¥ HEXNS & N 10,000 10,000 0

307 GIz2tolA 10,000 10,000 0

04 CIZFSHALE X 10,000 10,000 0
OSs2Y A & dEXNS S 10,000

H EE 22 672,000 154,000 518,000
| 572,000
& 100,000

LT HSELISEMN 2< 572,000 54,000 518,000
Il 572,000

101 Q14| 43,000 40,000 3,000
| 43,000

04 JI2tHIZ2E2NEE S 43,000 40,000 3,000
O=Z2FFgAc X 43,000
| 43,000

202 O4Hl 16,000 14,000 2,000
| 16,000

01 =Wl 13,000 14,000 A 1,000
O==Z2FE&c/M R 13,000
Il 13,000

04 =M=t Hl 3,000 0 3,000
OBYLHRABE YL Sy 3,000
p) 3,000

207 HFIHEHI 513,000 0 513,000
Il 513,000

01 A& 513,000 0 513,000
OSL==HZES2=E2LIHEEH 513,000
J| 513,000

sASZ2HH XS 100,000 100,000 0

306 EHS3 100,000 100,000 0

01 &3 100,000 100,000 0
OZEEEL =25 22dy X& 100,000

2ojd Jlgt =4 ,679,500 1,877,020 802,480
= 113,000
i = ,566,500

IRIGt=HelAld Xl XI& 135,700 463,020 A327,320
= 113,000
& 22,700

403 XXM SA=01H 135,700 463,020 A327,320
= 113,000
& 22,700

01 XM= E = 135,700 463,020 A 327,320
OJHelst=HXelAld EXIX& 135,700
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SAN-ZH-SA(FA) - NRAY - BES Ofl &+ 9K %Egﬁ Hws2
= 113,000
= 22,700
2F o A0IEFA £X X 943,800 1,414,000 A470,200
403 XX GHRIS XH2 0/ & 943,800 1,158,000 ~214,200
01 MHXSHX2SE 943,800 1,158,000 A214,200
OBZ L 2A0IatFa &3 X S 943,800
EQH R 1,600,000 0 1,600,000
403 XX SIS K20/ & 1,600,000 0 1,600,000
02 2IIZSOTHEHCHE AL b 1,600,000 0 1,600,000
OP)BERBLZHIAQAE (L 1,600,000
stac zel 239,579,456 231,766,700 7,812,756
= 220,206,000
= 19,373,456
AR BIETAM =5 15,058,600 15, 147,000 188,400
=2 14,008,000
= 1,050,600
403 XX SIS K20 15,058,600 15,147,000 788,400
= 14,008,000
= 1,050,600
01 RXISAK =2 X 15,058,600 15, 147,000 88,400
OHAE SIS HANE L 15,058,600
= 14,008,000
= 1,050,600
St JHl X 50,590,000 24,150,000 26,440,000
= 50,590,000
403 XX GHRIS XH= 0/ & 50,590,000 24,150,000 26,440,000
= 50,590,000
01 RXSHXZSE 50,590,000 24,150,000 26,440,000
OBt +2H =yl 50,590,000
= 50,590,000
SOE0IS54E Bl 31,537,928 51,510,000 ~19,972,072
= 27,945,000
= 3,502,928
403 XX GHRIS XH= 0/ & 31,537,928 51,510,000 ~19,972,072
= 27,945,000
= 3,502,928
01 MHXSHX2SE 31,537,928 51,510,000 ~19,972,072
Os0= Ot2ot+ 3| 31,537,928
= 27,945,000
= 3,502,928
ERL NSy SEHE X 8,218,000 3,500,000 4,718,000
= 8,218,000
403 XHXISHHIS XH2 O & 8,218,000 3,500,000 4,718,000
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= 8,218,000
01 XM EE 8,218,000 3,500,000 4,718,000
Ol==2k NgHe SEdHAR 8,218,000
= 8,218,000
MESIE=SRAY & 1,406,000 8,190,000 6,784,000
= 1,391,000
[ 15,000
403 XHXIE M SKH=0lH 1,406,000 8,190,000 26,784,000
= 1,391,000
[ 15,000
01 MHXSHMA=E X 1,406,000 8,190,000 26,784,000
Odthotd =& 1,391,000
= 1,391,000
Ozls3d sty 15,000
IIEE2LS3HelAIE 8X X 11,756,000 16,090,400 24,334,400
= 11,065,000
[ 691,000
403 A XIEHHSXH=01H 11,756,000 16,090,400 24,334,400
= 11,065,000
< 691,000
01 MXSHMA2E = 11,756,000 16,090,400 4,334,400
ONEE=ESHelAE £X 11,756,000
= 11,065,000
< 691,000
FLaMelAd A X& 2,240,000 2,250,000 210,000
= 2,240,000
403 A XIEHSKH=201H 2,240,000 2,250,000 10,000
= 2,240,000
01 MXSHMA2E = 2,240,000 2,250,000 10,000
O2=XMelAeE &= 2,240,000
= 2,240,000
HE? StXMelAld dX X3 10,563,428 10,472,000 91,428
= 9,360,000
< 1,203,428
403 A XIEHSXH=01H 10,563,428 10,472,000 91,428
= 9,360,000
< 1,203,428
01 XM LEE 10,563,428 10,472,000 91,428
Ogtel B3ot=HMelAlE &X 10,563,428
= 9,360,000
[ 1,203,428
=3ot=HelAlA 86,717,000 91,349,300 24,632,300
= 75,216,000
< 11,501,000
403 XXM SKE0IE 86,717,000 91,349,300 A4,632,300
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_ _ _ Muo
SA B G(E) - HEAY - B2 0 & o4 i HREZ
= 75,216,000
= 11,501,000
01 RXNSHAZSE 86,717,000 91,349,300 14,632,300
OBBot+M2IAIE £ 86,717,000
2 75,216,000
= 11,501,000
SeMel® xR s 7,390,500 6,343,000 1,047,500
= 6.737.000
= 653,500
403 XHXISHHIS XH2 O & 7,390,500 6,343,000 1,047,500
= 6.737.000
= 653,500
01 RXSHAZSE 7,390,500 6,343,000 1,047,500
Odt+HelZsN2 el SaE 7,390,500
= 6.737.000
= 653,500
St 2l 1Ol 8 AL 5,846,000 0 5,846,000
= 5. 180,000
= 666,000
403 XHXISHHIS XH2 0/ & 5,846,000 0 5,846,000
= 5. 180,000
= 666,000
01 RXSHAZSE 5,846,000 0 5,846,000
Odt+RHel+ oIS 5,846,000
= 5.180.000
= 666,000
SR Il BTLAIY UTHEXIS 8,256,000 0 8,256,000
= 8,256,000
403 XX SHHIS K20/ 8,256,000 0 8,256,000
= 8.256.000
01 XXISHXEE S 8,256,000 0 8,256,000
OB+ 2 BTLAUEXI S 8,256,000
= 8.256.000
M4E Y Kot el 57,305,500 47,837,000 9,468,500
=2 588,500
= 51,263,000
= 5,454,000
SOHEXNY 445 AY X 40,078,000 34,001,500 6,076,500
= 36, 118,000
= 3,960,000
403 XHXISHAIS XH2 0/ & 40,078,000 34,001,500 6.076.500
= 36, 118,000
= 3,960,000
01 RXSHAZSE 40,078,000 34,001,500 6,076,500
OS0EXY M4ZAE 40,078,000
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AN =E2el
Hm: 2TEE M 22
el MaE Y XSS 22 (=EREE))
SN (B) - MBEAY - B2 0 aF 0l S HDE2
Z 36, 118,000
= 3,960,000
AAESRYE FOUXIAE XA 501,000 606,000 A 105,000
= 501,000
403 XXISHSK=201A 501,000 606,000 A 105,000
= 501,000
01 MXSHXE2EX 501,000 606,000 A 105,000
Of+@Es7% FoX 501,000
= 501,000
SEMRY A3 g X2 3,057,000 3,057,000 0
2 2,709,000
== 348,000
403 KMXISHMS K201 3,057,000 3,057,000 0
Z 2,709,000
< 348,000
01 AXISH =22 xR 3,057,000 3,057,000 0
OZEMXNSE AR 3,057,000
= 2,709,000
& 348,000
AR AE JIEAY XS 11,486,000 8,357,500 3,128,500
2 11,486,000
403 XXIEHISK=201HA 11,486,000 8,357,500 3,128,500
Z 11,486,000
01 AIXSHHMAZ2E R 11,486,000 8,357,500 3,128,500
OLARLEEANE NS 11,486,000
Z 11,486,000
I ZMELIA =E20|2 & XA 121,700 120,000 1,700
= 87,500
= 34,200
403 XXISHHSX=201HA 121,700 120,000 1,700
= 87,500
& 34,200
01 XXM A=2EER 121,700 120,000 1,700
OJI=22A =202 HEAY 87,500
= 87,500
OJIZ==2 X =202 AZAY () 34,200
CLEAMLETZ G AIY = 316,800 800,000 483,200
403 XXIEHHISA=201A 316,800 800,000 A483,200
01 XSRS EER 316,800 800,000 A483,200
OL=&2t HH 300,000
Ootxgs=U &Xl 16,800
KXot H322l A& 75,000 75,000 0
403 KMXISHMS K201 75,000 75,000 0
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